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Question 1
Part (a)

public int getTotalBoxes ()
{
int total = 0;
for (CookieOrder o : orders)
total += o.getNumBoxes();
return total;

Part (b)

public int removeVariety(String cookieVar)
{
int total = 0;
for (int i = orders.size() - 1; i >= 0; i--) !
{
CookieOrder o = orders.get(i);
if (o.getVariety () .equals (cookieVar)) 2
{
total += o.getNumBoxes()
orders.remove (1) ;
}
}

return total;
34

Notes:

1. The list is traversed in the reverse order, so that the removed elements do not affect the
indices of the remaining elements.

2. equals, not ==,

3. Alternative solution with a while loop, traversing the list from the beginning:

public int removeVariety(String cookieVar)
{
int total = 0;
int 1 = 0;
while (i < orders.size())
{
CookieOrder o = orders.get(i);
if (o.getVariety () .equals (cookieVar))
{
total += o.getNumBoxes()
orders.remove (1) ;
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else
i++;
}

return total;

4. Alternative solution with an iterator (not in the AP subset):

public int removeVariety(String cookieVar)

{

int total = 0;
Iterator iter = orders.iterator();

while (iter.hasNext())
{
CookieOrder o = iter.next():;
if (o.getVariety () .equals (cookieVar))
{
total += o.getNumBoxes();
iter.remove () ;
}
}

return total;
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Question 2

public class APLine
{

private int a, b, c;

public APLine (int al, int bl, int cl)
{

= al;

= bl;

= cl;

Q0 O W

}

public double getSlope ()
{

return - (double)a / b; 2

}

public boolean isOnLine (int x, int vy)
{
return a*x + b*y + ¢ == 0;
}
Notes:
1. Or:

public APLine(int a, int b, int c¢)

this.a = a;
this.b = b;
this.c = ¢;

2. The cast to double on one or both operands is necessary to avoid integer division;
casting the result to double would be too late.
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Question 3

Part (a)

public boolean isLevelTrailSegment (int start, int end)

{

int max = markers[start];
int min = markers[start];
for (int 1 = start + 1; 1 <= end; i++)

{
if (markers[i] > max)
max = markers[i];
if (markers[i] < min)
min = markers[i];

}
return max - min <= 10;

pot

Notes:

1. Alternative solution:

public boolean isLevelTrailSegment (int start, int end)

{

for (int i = start; 1 < end; i++)
for (int j = i+1l; j <= end; J++)
if (Math.abs(markers[i] - markers[j]) > 10)

return false;
return true;

Part (b)

public boolean isDifficult()
{

int count = 0;
for (int 1 = 0; i1 < markers.length - 1; i++)
{
if (Math.abs (markers[i+1] - markers[i]) >= 30) ?
count++;

}

return count >= 3;

Notes:

1. Or:

if (markers[i+1l] - markers[i] >= 30 ||

markers[i] - markers[i+1]

>= 30)
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Question 4

Part (a)

public Actor actorWithMostNeighbors ()
{
ArrayList<Location> locs = gr.getOccupiedLocations();
if (locs.size() == 0)
return null;

int max = -1;
Location bestLoc = null;

for (Location loc : locs)

{

int n = gr.getOccupiedAdjacentLocations (loc) .size(); ?!

if (n > max)

{
max = n;
bestLoc = loc;

}

return gr.get (bestLoc);

Notes:
1. Or:
int n = gr.getNeighbors(loc) .size();
Part (b)

public List<Location> getOccupiedWithinTwo (Location loc)

{

ArrayList<Location> list = new ArrayList<Location>();

for (int r = loc.getRow() - 2; r <= loc.getRow() + 2; r++)
{
for (int ¢ = loc.getCol() - 2; c <= loc.getCol() + 2; c++)
{
Location locl = new Location(r, c);
if (gr.isValid(locl) && gr.get(locl) != null &&

!locl.equals (loc))
list.add(locl);

}

return list;

} 1
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Notes:
1. Alternative solution:

public List getOccupiedWithinTwo (Location loc)

{
ArrayList<Location> list = new ArrayList();
ArrayList<Location> occupied = gr.getOccupiedLocations();

for (Location locl : occupied)
if (Math.abs(loc.getRow() - locl.getRow()) <= 2 &&
Math.abs (loc.getCol () - locl.getCol()) <= 2 &&

'locl.equals (loc))
list.add(locl);

return list;



	Question 1
	Question 2
	Question 3
	Question 4

